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;.step param RC list  1000 1200 1
.param RC  1000

.include Circlotron.txt

.options plotwinsize=0

.options method=gear

.options numdgt=7

.temp 40

.param Freq=1k

.param numcyc=20

.param dlycyc=20

.param FFT=32786

.param simtime=(dlycyc+numcyc)/Freq

.param dlytime=dlycyc/Freq

.param numsampl=simtime/Freq/((simtime/numcyc)*FFT)
;.noise V(Vout) V3 dec 100 .1 1000meg
.op
.four {Freq} V(out_diff)
;.ac dec 30 .01 100meg
;.tran 0 {simtime} {dlytime} {numsampl}

www.circlotron.audio
THD 1khz 1W 8ohm 0.000886%
THD 1khz 100W 4ohm 0.012125%
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